

2022-2023 NIC-10 JV Girls

Tuesday 4:00 PM

Lanes 1 - 10

STANDINGS AND MORE: HIGH SCHOOL BOWLING SECTION WWW.BOWL815.COM
 LEAGUE SECRETARY ID: 130283 LANE PATTERN: HOUSE

USBC Certification: 112522

Team Standings

Place	#	Team Name	Points Won	Points Lost	Team Avg	Scratch Pins	High Game	High Sers	Place	#	Team Name	Points Won	Points Lost	Team Avg	Scratch Pins	High Game	High Sers
1	6	Harlem	9	0	1091	28948	1191	3403	6	2	Belvidere	5	4	561	13278	0	0
2	4	Hononegah	8	1	783	20374	886	2546	7	1	Auburn	4	5	648	13937	693	2045
3	3	Belvidere North	6	3	599	16034	678	1934	8	9	Freeport	2	7	266	6746	0	0
4	7	Guilford	5	4	662	16481	778	2163	9	10	Jefferson	1	8	610	5491	0	0
5	8	East	5	4	538	13604	656	1758	10	5	Boylan	0	9	0	0	0	0

Review of Last Week's Bowling.....

Lanes	Team Name	-1-	-2-	-3-	Total	Last Wk WON	Team Name	-1-	-2-	-3-	Total	Last Wk WON
1-2	Belvidere North	623	560	558	1741	1	<---> East	557	561	547	1665	0
3-4	Freeport	255	246	230	731	0	<---> Belvidere	465	410	431	1306	1
5-6	Guilford	602	572	601	1775	0	<---> Auburn	568	587	639	1794	1
7-8	Hononegah	741	726	871	2338	0	<---> Harlem	1100	1001	1008	3109	1
9-10	Jefferson	152	143	175	470	1	<---> Boylan	0	0	0	0	0

Season High Scores

Scratch Game	1191	Harlem	886	Hononegah	778	Guilford
Scratch Series	3403	Harlem	2546	Hononegah	2163	Guilford

Bowlers must have completed a minimum of 1 games to be eligible for any league award.

Scratch Game

259	RILEY GILBERT
246	ALEXIS BORN
235	ATHENA O'DELL
223	KAYLYNN COFFEE
222	SAMANTHA SWEENEY
222	CHLOE BEDIN

Scratch Series

691	ALEXIS BORN
650	ATHENA O'DELL
599	RILEY GILBERT
589	CHLOE BEDIN
583	SAMANTHA GRINNALL

Team Rosters

1 - Auburn

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ALEXIS LOPEZ	2203	24	91	124	323	99	122	88	309
ALYVIA FORT MILLER	2531	27	93	145	348	96	99	145	340
EMILY SHERMAN	2690	24	112	151	398	143	88	95	326
MYA STONE	3000	27	111	159	438	106	129	131	366
MONTREECE CHAPMAN	453	3	151	180	453	124	149	180	453
ASHARI CLEMONS	1635	18	90	146	334				0
KYLEE HORTON	1425	12	118	156	429				0

2 - Belvidere

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
STEPHMARIE BAEZ	3103	24	129	177	417	125	132	131	388
EMILY CASEY	3070	27	113	149	379	118	98	118	334
SAM RUCKER	2851	24	118	177	405	123	104	80	307
BRIANNA BAUMGARTNER	1782	21	84	128	332	99	76	102	277
EMILY HOLMES	2472	21	117	168	398				0

Tuesday 4:00 PM

Lanes 1 - 10

3 - Belvidere North

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ALICIA DOWNEY	1068	9	118	154	420	104	103	94	301
MAKAYLA HOFFMAN	2687	24	111	158	386	158	110	117	385
DORIANNA MIEROW	2351	23	102	154	386	104	96	70	270
MIA MENDOZA	1865	20	93	129	324	90	70	116	276
KARINA URBIETA	940	13	72	100	260	75	73	64	212
CAMI LEE	1865	18	103	142	380	92	108	97	297
JESSIE BAEZ MENDEZ	1501	17	88	110	298				0
ELISABETH MAVILLE	1625	15	108	143	381				0
ELISA MARTINEZ	805	8	100	115	320				0
ALMA ZEPEDA	1327	12	110	156	372				0

4 - Hononegah

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
INGRID ROESKE	1486	9	165	214	530	158	158	214	530
ALAHNIE CARMACK	2998	24	124	175	418	129	117	133	379
KAILYN DAVIS	4398	27	162	209	545	152	137	167	456
KYLIEE BROOKS	2847	27	105	134	372	104	95	104	303
HAYLIEE HOWE	3114	27	115	165	410	83	99	94	276
JACQUI FLURY	3042	27	112	191	394	115	120	159	394
SAMANTHA SWEENEY	2489	15	165	222	548				0

5 - Boylan

6 - Harlem

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
SAMANTHA GRINNALL	4509	25	180	220	583	220	180	183	583
ATHENA O'DELL	3939	22	179	235	650	155	147	130	432
RILEY GILBERT	4261	23	185	259	599	178	144		322
KAYLYNN COFFEE	3775	21	179	223	572		188	165	353
CHLOE BEDIN	4455	26	171	222	589	176	194	138	508
ALEXIS BORN	4729	24	197	246	691	228	148	221	597
CHLOE BROUGHTON	3280	21	156	186	504	143		171	314

7 - Guilford

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
JUSTYCE VONGPHAKDY	3361	24	140	178	467	161	147	144	452
SHARLENE RODRIGUES	1962	21	93	134	370	82	124	116	322
SAMANTHA MOSNY	2429	24	101	141	322	128	84	110	322
MARLEE REEDER	1925	22	87	115	337	87	73	91	251
ARIANA FERGUSON	2873	21	136	202	478	144	144	140	428
RAEHANN RAZICK	1900	18	105	137	359				0
HALEY FINKENHOFER	1299	11	118	159	343				0
HAYLEY JARDEEN	732	6	122	151	369				0

8 - East

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
MACKENZIE BONCOURI	2026	24	84	125	329	82	102	99	283
MAYE BYRD	2117	27	78	111	277	69	58	81	208
ASH OSENCARSKI	1465	18	81	103	271	65	103	74	242
ALEXANDRA SMITH	2288	24	95	129	320	82	93	76	251
BAILY CARLSON	2198	21	104	139	367	139	96	93	328
TIFFANY ELDER	2326	24	96	150	421	120	109	124	353
ISABELLA ALI	543	6	90	121	273				0
BRISA TAFOLLA	304	3	101	109	304				0
ALONDRA GONZALEZ	337	3	112	132	337				0

9 - Freeport

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
DEZARAI GRANT	3109	27	115	175	408	118	94	77	289
WHITNEY SHENBERGER	3637	24	151	214	536	137	152	153	442

Tuesday 4:00 PM

Lanes 1 - 10

10 - Jefferson

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
SOFIA LOFRANCO	2155	24	89	137	356	70	94	94	258
IZABELLA TORRES	1947	27	72	124	289	82	49	81	212
DELANIE PALMER	305	3	101	128	305				0
HANNAH STOKES	144	1	144	144	144				0
SOPHIA CASTRO	650	6	108	124	336				0
EMILY WILSON	290	3	96	117	290				0

Average List of All Members of This League

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ALEXIS BORN	4729	24	197	246	691	228	148	221	597
RILEY GILBERT	4261	23	185	259	599	178	144		322
SAMANTHA GRINNALL	4509	25	180	220	583	220	180	183	583
KAYLYNN COFFEE	3775	21	179	223	572		188	165	353
ATHENA O'DELL	3939	22	179	235	650	155	147	130	432
CHLOE BEDIN	4455	26	171	222	589	176	194	138	508
SAMANTHA SWEENEY	2489	15	165	222	548				0
INGRID ROESKE	1486	9	165	214	530	158	158	214	530
KAILYN DAVIS	4398	27	162	209	545	152	137	167	456
CHLOE BROUGHTON	3280	21	156	186	504	143		171	314
WHITNEY SHENBERGER	3637	24	151	214	536	137	152	153	442
MONTREECE CHAPMAN	453	3	151	180	453	124	149	180	453
HANNAH STOKES	144	1	144	144	144				0
JUSTYCE VONGPHAKDY	3361	24	140	178	467	161	147	144	452
ARIANA FERGUSON	2873	21	136	202	478	144	144	140	428
STEPHMARIE BAEZ	3103	24	129	177	417	125	132	131	388
ALAHNIE CARMACK	2998	24	124	175	418	129	117	133	379
HAYLEY JARDEEN	732	6	122	151	369				0
SAM RUCKER	2851	24	118	177	405	123	104	80	307
KYLEE HORTON	1425	12	118	156	429				0
ALICIA DOWNEY	1068	9	118	154	420	104	103	94	301
HALEY FINKENHOFER	1299	11	118	159	343				0
EMILY HOLMES	2472	21	117	168	398				0
HAYLIEE HOWE	3114	27	115	165	410	83	99	94	276
DEZARAI GRANT	3109	27	115	175	408	118	94	77	289
EMILY CASEY	3070	27	113	149	379	118	98	118	334
JACQUI FLURY	3042	27	112	191	394	115	120	159	394
ALONDRA GONZALEZ	337	3	112	132	337				0
EMILY SHERMAN	2690	24	112	151	398	143	88	95	326
MAKAYLA HOFFMAN	2687	24	111	158	386	158	110	117	385
MYA STONE	3000	27	111	159	438	106	129	131	366
ALMA ZEPEDA	1327	12	110	156	372				0
SOPHIA CASTRO	650	6	108	124	336				0
ELISABETH MAVILLE	1625	15	108	143	381				0
RAEHANN RAZICK	1900	18	105	137	359				0
KYLIEE BROOKS	2847	27	105	134	372	104	95	104	303
BAILY CARLSON	2198	21	104	139	367	139	96	93	328
CAMI LEE	1865	18	103	142	380	92	108	97	297
DORIANNA MIEROW	2351	23	102	154	386	104	96	70	270
DELANIE PALMER	305	3	101	128	305				0
BRISA TAFOLLA	304	3	101	109	304				0
SAMANTHA MOSNY	2429	24	101	141	322	128	84	110	322
ELISA MARTINEZ	805	8	100	115	320				0
TIFFANY ELDER	2326	24	96	150	421	120	109	124	353
EMILY WILSON	290	3	96	117	290				0
ALEXANDRA SMITH	2288	24	95	129	320	82	93	76	251
ALYVIA FORT MILLER	2531	27	93	145	348	96	99	145	340
SHARLENE RODRIGUES	1962	21	93	134	370	82	124	116	322
MIA MENDOZA	1865	20	93	129	324	90	70	116	276
ALEXIS LOPEZ	2203	24	91	124	323	99	122	88	309
ASHARI CLEMONS	1635	18	90	146	334				0

Tuesday 4:00 PM

Lanes 1 - 10

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Avg</u>	<u>High Game</u>	<u>High Sers</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>Total</u>
ISABELLA ALI	543	6	90	121	273				0
SOFIA LOFRANCO	2155	24	89	137	356	70	94	94	258
JESSIE BAEZ MENDEZ	1501	17	88	110	298				0
MARLEE REEDER	1925	22	87	115	337	87	73	91	251
BRIANNA BAUMGARTNER	1782	21	84	128	332	99	76	102	277
MACKENZIE BONCOURI	2026	24	84	125	329	82	102	99	283
ASH OSENCARSKI	1465	18	81	103	271	65	103	74	242
MAYE BYRD	2117	27	78	111	277	69	58	81	208
KARINA URBIETA	940	13	72	100	260	75	73	64	212
IZABELLA TORRES	1947	27	72	124	289	82	49	81	212

Temporary Substitutes

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Avg</u>	<u>High Game</u>	<u>High Sers</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>Total</u>
-------------	-------------	------------	------------	----------------------	----------------------	------------	------------	------------	--------------